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Question Number : 1 Question Id : 73681513781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

When is the most appropriate time for a women to perform breast self-examination?
Options:

, = The first day of the menstrual period



o o One week after the start of the menstrual period

% % Just before the time of intercourse

, % Any convenient time of the month

Question Number : 1 Question Id : 73681513781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 2 Question Id : 73681513782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Exact heart rate found at:
Options:

, w» Radial artery

www.canestar.com

o  Apex of the heart

- » Temporal vein

4 % Femoral vein

Question Number : 2 Question Id : 73681513782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 3 Question Id : 73681513783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The universal blood donor is:
Options:



1 % AB
> % B
z ® A
4. ¢ O

Question Number : 3 Question Id : 73681513783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FaHtA Taear R AT Far 272
Options:

1 ® AB

oo B

o A

4 ¢ 0O

Question Number : 4 Question Id : 73681513784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

What is the immediate treatment of dog bite?
Options:

, % Send to the hospital

> % Application of antiseptic WWW.canestar.com

5  Wash the wound with soap and water

4 % Suturing

Question Number : 4 Question Id : 73681513784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 5 Question Id : 73681513785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What does HS mean?
Options:

, % Thrice aday



> « At bed time
5 % Iwiceaday

, = After every hour

Question Number : 5 Question Id : 73681513785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 6 Question Id : 73681513786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A patient appears more pale than usual. The nurses’ aide should:
Options:

1 # note it on the chart

offer a glass of water

e www.canestar.com

5 % getthe patient a snack

4 ask the patient how he feels and take his vital signs immediately

Question Number : 6 Question Id : 73681513786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 7 Question Id : 73681513787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Most of our calories should come from:
Options:



| « carbohydrates

> % fats

5 % protein

4 % vitamins

Question Number : 7 Question Id : 73681513787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 8 Question Id : 73681513788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How can you recognize a mentally ill person?
Options:

.~ oWy Violed WwWw.canestar.com

> % Anxiety. Tension

5 % Abusive. Homicidal behaviors

4  Allof the other options

Question Number : 8 Question Id : 73681513788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 9 Question Id : 73681513789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The branch of medicine which deals with the diagnosis. treatment and prevention of mental illness is:

Options:



, % Psychology

- % Sociology

-  Psychiatry

4 = Physiology

Question Number : 9 Question Id : 73681513789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 10 Question Id : 73681513790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The spinal nerves are:

Options:

, % 30 pairs
: www.canestar.com

31 pairs

- w 41 pairs

4 % 20 pairs

Question Number : 10 Question Id : 73681513790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 11 Question Id : 73681513791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ovulation day is:

Options:



1 1410 day of menses
10t day of menses

ot day of menses
3 % e

20t day of menses

Question Number : 11 Question Id : 73681513791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
HeSIeweT (Hiegen) & & -

Options:

Question Number : 12 Question Id : 73681513792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Number of milk teeth are:

Options: WWWCB.neStaI’COFn
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4 #® 28

Question Number : 12 Question Id : 73681513792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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- % 30

2 % 32
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Question Number : 13 Question Id : 73681513793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Smallest bone present in the body is:

Options:



1 % Head

o W Leg

= « Ear

4 % Hand

Question Number : 13 Question Id : 73681513793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 14 Question Id : 73681513794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Voice produced by:
Options:

« Pharynx

Larynx www.canestar.com

i,
> %
= « Vocal cords

4 % Thyroid cartilage

Question Number : 14 Question Id : 73681513794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 15 Question Id : 73681513795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Function of the blood is:
Options:



, % Carry carbon dioxide to the blood

-~ % Camry nutrients to all parts of the body

5 % Camry antibodies to sites of infection

4  All of the other options

Question Number : 15 Question Id : 73681513795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 16 Question Id : 73681513796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Life span of RBC:

Options: WWW.CaneStar.00m
, = 100 days

> « 120 days

5 % 1 year

4 % 00days

Question Number : 16 Question Id : 73681513796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 17 Question Id : 73681513797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The heart is situated in the:



Options:
, » Abdominal cavity

- « Thoracic cavity

5 % Pelvic cavity
, % Cranial cavity

Question Number : 17 Question Id : 73681513797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 18 Question Id : 73681513798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Infective hepatitis virus is present WWW canhestar.com

Options:
1 % Saliva

5 % Sputum

= % Face and blood

4  All of the other options

Question Number : 18 Question Id : 73681513798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 19 Question Id : 73681513799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



The stools of cholera are:
Options:
1 #® QGreen

- % Yellow
3 « Rice water

4 % Normal

Question Number : 19 Question Id : 73681513799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 20 Question Id : 73681513800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Rabies is transmitted by the bite of;
Options:

« Anopheles mosquito

www.canestar.com
i,

> % Culex mosquito

z % Flies

4  Arabid dog

Question Number : 20 Question Id : 73681513800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 21 Question Id : 73681513801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Important objectives of health services are:



Options:
1 % Prevention of diseases

- % Promotion of health
% % Cure from the diseases
4  All of the other options

Question Number : 21 Question Id : 73681513801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 22 Question Id : 73681513802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Copper T is contraindicated during:
Options:

Pregnancy

www.canestar.com

1 ®
- % Pelvic infections
= % Heart diseases

4  All of the other options

Question Number : 22 Question Id : 73681513802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 23 Question Id : 73681513803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ovum has the pair of sex chromosomes.

Options:



1 ® XXX
> % XY
3. v XX
4% YY

Question Number : 23 Question Id : 73681513803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 24 Question Id : 73681513804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Anaemia is conunonly seen in:

[.  Child bearing women
[I. Multi parity women
III. Lower income group

Options: www.canestar.com
L % Only I

5 ® Only II

= % Only IIT

4 « L 1land III

Question Number : 24 Question Id : 73681513804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 25 Question Id : 73681513805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is the current ratio of chest compressions / rescue breaths?
Options:
15
1. %
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Question Number : 25 Question Id : 73681513805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 26 Question Id : 73681513806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Splint an injury to a muscle, bone. or joint occurs only when:
Options:

, « Youhave to move or transport the victim

- % Youcan do so without hurting the victim

- % Youhave splinting materials available

, % Youhave to move or transport the victim and you can do so without hurting the victim

Question Number : 26 Question Id : 73681513806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 27 Question Id : 73681513807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Your check of the scene suggests that a victim has suffered an electrical shock. What is the first thing to do?

Options:
, w Cover all burns with a dry loose dressing

> % Aska bystander to help you move the victim

% % Place the victim on one side with the head down

4  Make sure the power is turned off

Question Number : 27 Question Id : 73681513807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 28 Question Id : 73681513808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘What you will do when caring for a seizure victim?

Options:

, » Remove nearby objects that might cause injury

> % Place a small object. such as a rolled up piece of cloth. between the Victim'’s teeth

- % 11y to hold the person still

4  All of the other options

Question Number : 28 Question Id : 73681513808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 29 Question Id : 73681513809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Why should you cover burns with a clean or sterile dressing?
Options:

. To prevent infection
- % To cool burned area

5 % Tokeep the burned area warm

, % Toprevent infection and to keep the burned area warm

Question Number : 29 Question Id : 73681513809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 30 Question Id : 73681513810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following behaviors reduces your risk for injury?
Options:

. Always wearing a safety belt when riding in automobiles

> % Limiting intake of alcohol
- % Limiting intake of foods high in cholesterol

4 % Wearing a safety belt when riding in automobiles and limiting intake of alcohol



Question Number : 30 Question Id : 73681513810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 31 Question Id : 73681513811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

How can you reduce the risk of disease transmission when caring for open, bleeding wounds?
Options:

. » Wash your hands immediately after giving care

> % Avoid direct contact with blood

5 ® Use protective barriers such as gloves or plastic wrap

4  Allof the other options

www.canestar.com

Question Number : 31 Question Id : 73681513811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 32 Question Id : 73681513812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which is the first step when caring for bleeding wounds?
Options:

. « Apply direct pressure with a clean or sterile dressing

- % Apply pressure at the pressure point



- % Addbulky dressings to reinforce blood soaked bandages

4 % Elevate the wound

Question Number : 32 Question Id : 73681513812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 33 Question Id : 73681513813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Dressing and bandages are used to:
Options:

, = reduce the victim's pain

> % reduce internal bleeding

www.canestar.com

-  help control bleeding and prevent infection

4, % make it easier to take the victim to the hospital

Question Number : 33 Question Id : 73681513813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 34 Question Id : 73681513814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The hormone responsible for a positive pregnancy test is:
Options:

| % Estrogen



5 % Progesterone

-  Human Chorionic Gonadotropin

, % Follicle Stimulating Hormone

Question Number : 34 Question Id : 73681513814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 35 Question Id : 73681513815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The most common normal position of the fetus in utero is:

Options:
. w Transverse position

.  Vertical position www.canestar.com

- % Oblique position

4 % None of the other options

Question Number : 35 Question Id : 73681513815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 36 Question Id : 73681513816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a positive sign of pregnancy?

Options:



, % Fetal movement felt by mother

- % Enlargement of the uterus

- % (%) pregnancy test

4 v () ultrasound

Question Number : 36 Question Id : 73681513816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 37 Question Id : 73681513817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
From the 33rd week of gestation till full term. a healthy mother should have prenatal check up every:

Options:

i v weeks www.canestar.com
> % 2 weeks
z % 3 weeks
4 % 4weeks

Question Number : 37 Question Id : 73681513817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 38 Question Id : 73681513818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If the LMP is Jan 30, the Expected Date of Delivery (EDD) is:



Options:
1 #® Oct?

- % Oct24
3 « NoOv 7
4 % Nov38

Question Number : 38 Question Id : 73681513818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 39 Question Id : 73681513819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Kegel's exercise is done in pregnancy in order to:

Options:

|« strengthen perineal muscles Www.canestar.com

- % relieve backache

5 » strengthen abdominal muscles

, % prevent leg varicosities and edema

Question Number : 39 Question Id : 73681513819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 40 Question Id : 73681513820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The diet that is appropriate in normal pregnancy should be high in:



Options:
, « Drotein. minerals and vitamins

- % carbohydrates and vitamins

- % proteins. carbohydrates and fats

4 % fats and minerals

Question Number : 40 Question Id : 73681513820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 41 Question Id : 73681513821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The nursing intervention to relieve “morning sickness™ in a pregnant woman is by giving:

Options: www.canestar.com
1 dry carbohydrate food like crackers

- % low sodium diet
% % intravenous infusion
4 % anfacid

Question Number : 41 Question Id : 73681513821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 42 Question Id : 73681513822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



A disease caused by Treponema pallidum is:
Options:
, « Syphilis

> % Polio
=z % Gonorrhea
4 % Mums

Question Number : 42 Question Id : 73681513822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 43 Question Id : 73681513823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Wihnch one of the following 5 a conunon respouse expected m o patient with stroke, 0 the change m body mmage?

Options: WWW.CaneStaI'.COFT'I

1 % Denial

- % Disassociation
z % Delusion

4 « Depression

Question Number : 43 Question Id : 73681513823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 44 Question Id : 73681513824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



For doing Nasotracheal Suctioning, during which of the following patient activities should the catheter be
inserted?

Options:
, % Swallowing

-  Inhaling
- % Exhaling

, % Retching

Question Number : 44 Question Id : 73681513824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 45 Question Id : 73681513 io ; pti ffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Onmebaﬁé\%?@b%

Correct: 1 Wrong: 0.25

What is Cyanosis?

Options:
1 + Blue discoloration of skin

- % Pink colour of the skin

- % DBleeding

4 % Pain in abdomen

Question Number : 45 Question Id : 73681513825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 46 Question Id : 73681513826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The period from conception to birth is denoted as:

Options:
1 « Prenatal

> % Intranatal
= % Postnatal

4 % Natal

Question Number : 46 Question Id : 73681513826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Which of the following developmental stages corresponds to infancy?

Options:

1« Trust Vs. Mistrust

5 % Autonomy Vs, Shame

= % Initiative Vs. Guilt

4, = Industry Vs. Inferiority

Question Number : 47 Question Id : 73681513827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 48 Question Id : 73681513828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The head circumference of a normal infant is:
Options:

1 ® 33-35cm

3

> % 31-34 cm

= o 32-37 cm
3

4 % 33-36cm

Question Number : 48 Question Id : 73681513828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 49 Question Id : 73681513829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25 www.canestar.com
The leading cause of death in adolescence is:

Options:
1 « Accidents

> % Measles
z % Infection
4 % Tuberculosis

Question Number : 49 Question Id : 73681513829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 50 Question Id : 73681513830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

Which of the following structures controls heat loss?
Options:

, w Anterior pituitary

-~ % Posterior pituitary
- % Posterior hypothalamus

4  Anterior hypothalamus

Question Number : 50 Question Id : 73681513830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 51 Question Id : 73681513831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option OrieWWW?ﬁaneStar_Com

Correct : 1 Wrong: 0.25

A patient who is receiving intravenons fluids develops tendamess, warmith, erythema and pain at the infiision site.
Which of the following conditions will vou suspect?

Options:

L ® Sepsis

- % Infiltration
= # Fluid overload

4 « Phlebitis

Question Number : 51 Question Id : 73681513831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 52 Question Id : 73681513832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following structures is the pacemaker of the heart?
Options:

1 « S-A node

5 % Septum

=z % A-V node
4 % Bundle of His

Question Number : 52 Question Id : 73681513832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Tl gt § ¥ Fi9-8r 867 7 958 22

Options:
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Question Number : 53 Question Id : 73681513833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The prescription 1s for two tablespoons of milk of magnesia. How many ml. will you give?
Options:

1 « 30ml

> % 50ml
z % 70ml

4 % 10ml

Question Number : 53 Question Id : 73681513833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 54 Question Id : 73681513834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is intravascular fluid?

Options:

, % Lymph

- % Pleural fluid
3 « Plasma

4, % Synovial fluid

Question Number : 54 Question Id : 73681513834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 55 Question Id : 73681513835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If the serum Sodium level is less than normal. the condition is known as

Options:
, w» Hypokalemia

» % Hyperkalemia
s % Hypernatremia

4  Hyponatremia

Question Number : 55 Question Id : 73681513835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 56 Question Id : 73681513836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

What electrolyte abnormality is likely to develop in a patient with vomiting?
Options:

, « Hypokalemia

> % Hyperkalemia

5 % Hypernatremia

, % Hyponatremia

Question Number : 56 Question Id : 73681513836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 57 Question Id : 73681513837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
How much sodium. in mEq/L. is normally present in the extra cellular fluid?

Options:
1« 135-145

> % 139-149
s % 125-135
4 % 120-135

Question Number : 57 Question Id : 73681513837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
. « 135 - 145
5 % 139 - 149

- % 125 - 135



. % 120 - 135

Question Number : 58 Question Id : 73681513838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is an isotonic solution?
Options:

, « Lactated Ringers

> % Half -Normal Saline

z % One-third Normal Saline

4 % Mannitol

Question Number : 58 Question Id : 73681513838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 59 Question Id : 73681513839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following is a first-line drug used for pain management?
Options:

| « Acetaminophen
- % Clonidine

5 % Morphine

4 % Ketamine

Question Number : 59 Question Id : 73681513839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 60 Question Id : 73681513840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the organism that causes peptic ulcer disease?

Options:
, w Staphylococcus

» % Corynebacterium
-  Helicobacter pylori

4 % Streptococcus

Question Number : 60 Question Id : 73681513840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 61 Question Id : 73681513841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following nutrients helps for tissue repair?
Options:

1 % Vitamin

-~ % Fat

- » Carbohydrate

4 « Protein

Question Number : 61 Question Id : 73681513841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

frafof@a 9w dcal # ¥ FIA-81 Fde GuR A Tede gl 87
Options:

|« @S

> % 91

. « FEEEAST




4 v ST

Question Number : 62 Question Id : 73681513842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In order to administer enema, the external anal sphincter needs to be relaxed. Identify the patient activity that
facilitates relaxation.

Options:
, w Separating the buttocks

> % Lubricating the catheter tip
5 % Inserting the catheter slowly

,  Breathing out through the mouth

Question Number : 62 Question Id : 73681513842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 63 Question Id : 73681513843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is the best method to confirm placement of the nasogastric tube?
Options:

, w» Checking patient’s ability to talk

-~ % Aspiration of intestinal content

- » Introducing air and auscultating

4  X-ray of chest and abdomen

Question Number : 63 Question Id : 73681513843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 64 Question Id : 73681513844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is a common cause of orthostatic hypotension in a bedridden Patient?

Options:
1 ® Increased autonomic response

-  Decreased circulating blood volume

- % Increased cardiac output

, = Decreased blood pooling

Question Number : 64 Question Id : 73681513844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 65 Question Id : 73681513845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following body parts has a Condyloid joint?

Options:
1 % Shoulder

> % Elbow
5 o Wrist
4 % Forearm

Question Number : 65 Question Id : 73681513845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 66 Question Id : 73681513846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following minerals should be taken by a child suffering from rickets?

Options:
1 % Potassium

> « Calcium
=z % Sodium
4 % Iron

Question Number : 66 Question Id : 73681513846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 67 Question Id : 73681513847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following drugs will be administered to treat anaphylaxis?

Options:
, w Afropine
> % Sodium bicarbonate

5 % Digoxin

4 « Epinephrine

Question Number : 67 Question Id : 73681513847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

drgenfedr & 3= & fOv Rraei@a gasar # o g 39aer &Far amwen?

Options:




| w IS

, « WISTA sEFEae
. TEEfeEe

4 v TSR

Question Number : 68 Question Id : 73681513848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following immunoglobulin are responsible for anaphvlactic reactions?

Options:
| % IgA
> v I8E

. % IgM

4 ® IgG

Question Number : 68 Question Id : 73681513848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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4 ® IgG

Question Number : 69 Question Id : 73681513849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If a person is having an acnte rejaction of a ransplantad organ, which of the following dmgs wonld mosr likely ro be
used?

Options:
1 % Tacrolimus

> % Cyclosporine

5 w Cellcept

4 « Daclizumab

Question Number : 69 Question Id : 73681513849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 70 Question Id : 73681513850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following symptoms should be watched for in a patient receiving a loop diuretic?

Options:
, = Restlessness and Agitation

> #% Paresthesias

- » Increased blood pressure

4 v Weak irregular pulse

Question Number : 70 Question Id : 73681513850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 71 Question Id : 73681513851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following should be watched for in a patient who has just undergone a total thyroidectomy?
Options:
| w Weight gain

> % Depressed reflexes
5  Positive chvostek sign

, % Personality changes



Question Number : 71 Question Id : 73681513851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 72 Question Id : 73681513852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Which of the following surgical procedures involves removal of a body organ?
Options:

, = Tracheostomy

> % Laparotomy

- % Mammoplasty

4 Mastectomy

www.canestar.com

Question Number : 72 Question Id : 73681513852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 73 Question Id : 73681513853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is an earliest manifestation of inadequate oxygenation?
Options:

, w Diaphoresis

> % Cyanosis

= « Restlessness



, % Hypotension

Question Number : 73 Question Id : 73681513853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 74 Question Id : 73681513854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following helps to identify flail chest in a patient with chest trauma?

Options:

, = Multiple rib fractures seen in X-ray
> % Decreased movement of chest wall

=z % Tracheal deviation

4 Paradoxic chest movement dW%éthﬂé star.com

Question Number : 74 Question Id : 73681513854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 75 Question Id : 73681513855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is an intervention for a patient with chronic obstructive pulmonary disease?
Options:

, « Pursed-lip Breathing

» % Chronic Steroid Therapy



- % HighFlow Oxygen

, % High Carbohydrate Diet

Question Number : 75 Question Id : 73681513855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

. » T&FI2 gl & | = (Pursed-lip Breathing)
, « e FUAS ET (Chronic Steroid Therapy)
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Question Number : 76 Question Id : 73681513856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Normal PH of the blood:
Options:
1.« T

i

[ ¥]

5-7.

]
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i

o R 25
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4 % 7.62-7.

Question Number : 76 Question Id : 73681513856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T & T PH FaT 22

Options:

| v 7.35 - 7.45
, % 3.53 - 4.42
5 % 6.25 - 6.45
. % 7.62 - 7.85

Question Number : 77 Question Id : 73681513857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is the most common pathologic finding in individuals at risk for sudden cardiac death?

Options:
1 % Aortic valve disease

- % Mifral valve disease

5 % Left ventricular dysfunction



4 « Atherosclerotic heart disease

Question Number : 77 Question Id : 73681513857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 78 Question Id : 73681513858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is an absolute contraindication for the use of Fibrinolytic therapy?
Options:
, # Current use of anticoagulants

> % Severe liver disease

-  Suspected aortic dissection \W\W\W.canestar.com

, = Active peptic ulcer disease

Question Number : 78 Question Id : 73681513858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 79 Question Id : 73681513859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following drugs provide relief of anxiety and decreases both preload and after load?

Options:
1 #% Amrinone

> « Morphine Sulphate



= % Furosemide
4 % Dobutamine

Question Number : 79 Question Id : 73681513859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 80 Question Id : 73681513860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

When is the Tetanus Toxoid (TT) vaccine given during pregnancy?
Options:

1 # First Trimester

- % Second Trimester
= « Third Trimester
4 # Fourth Trimester

www.canestar.com

Question Number : 80 Question Id : 73681513860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 81 Question Id : 73681513861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
From the given options identify the one which is not the effect of low levels of amniotic fluid.

Options:
i % Intrauterine Growth Restriction (IUGR)

> % Preterm birth



- % Labor complications such as cord compression
4 « Post Date Pregnancy

Question Number : 81 Question Id : 73681513861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 82 Question Id : 73681513862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following is called fluid connective tissue?

Options:
1 % Sk

- # Muscles

3 + Blood www.canestar.com

4 % Ligaments

Question Number : 82 Question Id : 73681513862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 % cadl

> B mm

= o {ad

8 HfPT=5 (Ligaments)

Question Number : 83 Question Id : 73681513863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following nutrients helps in good vision?
Options:

1 & Vitamin K

> R Vitamin B



z % Vitamin C
4 « Vitamin A

Question Number : 83 Question Id : 73681513863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 84 Question Id : 73681513864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Emaciated child with reduced body weight are the symptoms of a deficiency disorder called:

Options:
1 % Kwashiorkor

> « Marasmus
= % Rickets

4 % Anaemia WwWw.canhestar.com

Question Number : 84 Question Id : 73681513864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HH ToieT Gl HAAN Y, 3oqar FeR FTaeorg @ FEd g

Options:

, % STETf#s (Kwashiorkor)
o STy (Marasmus)

. » §@T VT (Rickets)

4 u JALFAAT (Anaemia)

Question Number : 85 Question Id : 73681513865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following diseases 1s caused due to some allergy?

Options:
1 +« Asthma

> #% Tuberculosis
= % Cancer

4 % Gastroenteritis



Question Number : 85 Question Id : 73681513865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 86 Question Id : 73681513866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following is a normal finding obtained during a lymph node palpation?

Options:
= Hard, Fixed node

>  Firm, Mobile node

- % Enlarged Tender nodes

4 % Hard. Non-tender nodes

canestar.com
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Question Number : 86 Question Id : 73681513866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 87 Question Id : 73681513867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A certain patient is suspected to be suffering from Acquired Immune Deficiency Syndrome.

Which diagnostic technique will you recommend for its detection?

Options:
1 % Widal

> « ELISA
T #® MEI



4 % ECG

Question Number : 87 Question Id : 73681513867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

y u SR
, v SUSHIRTHT (ELISA)

. « THFREE (MRI)

, « $4=T (ECG)

Question Number : 88 Question Id : 73681513868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Carcinoma refers to:
Options:

, « Malignant tumours of the skin or mucous membrane

- » Benign tumours of the connective tissue

« Malignant tumours of the colon

www.canestar.com

, % Malignant tumours of the connective tissue

o

Question Number : 88 Question Id : 73681513868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 89 Question Id : 73681513869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following disease is caused by virus and transmitted by mosquito?
Options:

, » Plague

» % Typhus



= % Yellow fever
4 « Filariasis

Question Number : 89 Question Id : 73681513869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 90 Question Id : 73681513870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Use of anti-histamines and steroids give a quick relief from:
Options:

1 % Headache
o o Allergy

5 % Nausea

- www.canestar.com
4 » Cough

Question Number : 90 Question Id : 73681513870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 91 Question Id : 73681513871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which of the following diseases is due to an allergic reaction?

Options:
1 % Enteric fever

>  Hay fever



= % Skin cancer

4 % Goitre

Question Number : 91 Question Id : 73681513871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 92 Question Id : 73681513872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A tumor enclosed within a capsule is termed:
Options:

L Benign

> % Metastasis

« Malignant

3. www.canestar.com

4 % Basophils

Question Number : 92 Question Id : 73681513872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 93 Question Id : 73681513873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which of the following is a pair of viral diseases?
Options:

, » Typhoid. Tuberculosis

> % Ringworm, AIDS



-  Common cold . ATDS

4 % Dysentery. Conunon cold

Question Number : 93 Question Id : 73681513873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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, « NITEH, TSH (AIDS)

_ , I, 7= (AIDS)
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Question Number : 94 Question Id : 73681513874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which vaccine is to be kept in refrigerator?
Options:

1 % Measles

5 % Mumps

w8 il www.canestar.com

4 +« Tetanus

Question Number : 94 Question Id : 73681513874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 95 Question Id : 73681513875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
One Anganwadi covers how much population?

Options:
1+ 1000

> % 10000



5 % 6000
4 % 5000

Question Number : 95 Question Id : 73681513875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

. v 1000
. = 10000
- = 6000
., = 5000
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Question Number : 96 Question Id : 73681513876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ASHA stands for?

Options:

1 « Accredited Social Health Activist

-~ % Associated Society Health Agent

- % Ashram Social Health Agent
4 % Accredited Social Home Ageliww.canestar.com

Question Number : 96 Question Id : 73681513876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

. UhiEes TR 2oy UlFefate (Accredited Social Health Activist)
, « THIAUSS AR §oY Tsic (Associated Society Health Agent)
.« 3T WIS §oY TS (Ashram Social Health Agent)

, » USHiSCE WA #H TS (Accredited Social Home Agent)

Question Number : 97 Question Id : 73681513877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Full form of DOTS:

Options:

, « Directly Observed Short Course Therapy

- % Developed Observed Short Course Treatment

z % Detailed Observed Treatment Course



4 % Detailed Unobserved Treatment Services

Question Number : 97 Question Id : 73681513877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 98 Question Id : 73681513878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
At which of the following places is an ASHA worker not posted?

Options:
, « Super specialty hospital

> % Community centers
= % Field visits

4 % Sub centers www.canestar.com

Question Number : 98 Question Id : 73681513878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 99 Question Id : 73681513879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Severe dehydration sign and symptoms are:
Options:

1 + Sunken Fontanels

- % Over Eating



5 % Bleeding from any Open Orifice

, % Increased Urine Output

Question Number : 99 Question Id : 73681513879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 100 Question Id : 73681513880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Through which of the following is HIV not transmitted?

Options:
, « Hand shaking

- % Blood transfusion

_ & Mother to baby WWW.canestar.com

4 % Sexual intercourse

Question Number : 100 Question Id : 73681513880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 101 Question Id : 73681513881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Name the proposed capital of Andhra Pradesh.
Options:

1 ® Guntur

> % Guntakal

- » Vijayawada

4 « Amaravati

Question Number : 101 Question Id : 73681513881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 102 Question Id : 73681513882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The instrument for seeing minute objects is:
Options:

1 % Radar

» % Periscope

5  Microscope

4 % Photometer

Question Number : 102 Question Id : 73681513882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

, = R (Radar)

, « UNER (Periscope)

. » AEHERT (Microscope)
» PrerAeY (Photometer)

4.

Question Number : 103 Question Id : 73681513883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the odd one out.
Options:

1 % Mumbai

> % Kolkata

z % Chennai

4 « Shimla

Question Number : 103 Question Id : 73681513883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 104 Question Id : 73681513884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
D}’HE!JHD converts

Options:

, « mechanical energy into electrical energy.

- % electrical energy into mechanical energy.
- % light energy into electrical energy.

, % light energy into mechanical energy.

Question Number : 104 Question Id ;: 73681513884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 105 Question Id : 73681513885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Hematology is the study of:

Options:

1 ® DBones
> « Blood
= % IHeart

4 % Kidney

Question Number : 105 Question Id : 73681513885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 106 Question Id : 73681513886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What should replace the *?” in the pair of words?

Cricket : Bat :: Tennis : ?
Options:
1 ® Court

o W Ball
- R Stick
4 Racquet

Question Number : 106 Question Id : 73681513886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 107 Question Id ;: 73681513887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the odd one out.
Options:

1 ® River

> « Lake

= % Canal

4 % Stream

Question Number : 107 Question Id : 73681513887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e & AT FIi=T| www.canestar.com

Options:

1 ® ”_'la-
Gigs Siel
3 % AN
4 ® F

Question Number : 108 Question Id : 73681513888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which compound is commonly known as ‘laughing gas™?

Options:
1 % Methane

5 « Nitrous Oxide
% % Sodium Chloride
4 % Hydrogen Chloride

Question Number : 108 Question 1d : 73681513888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 109 Question Id : 73681513889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tennis star Serena Williams belongs to:
Options:

1 % Switzerland

> % Russia
3z « US.A

4 % Germany

Question Number : 109 Question Id : 73681513889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 110 Question Id ;: 73681513890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The present official residence of the Prime Minister in Delhi is at:

Options:
, » 0.Flag Staff Road

> % 10, Janpath

5 % 20, Akbar Road

4 « 7. Race course Road

Question Number : 110 Question Id : 73681513890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 111 Question Id : 73681513891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
0.1x0.02x0.003=7

Options:
1 % 0.0000006

> % 0.00006
= « 0.000006
4 % 0.0006

Question Number : 111 Question Id : 73681513891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

0.1 x 0.02 x 0.003 = ?

Options: WWW.canestar.com
. % 0.0000006

> % 0.00006
= « 0.000006
4 % 0.0006

Question Number : 112 Question Id : 73681513892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the value of *?° in the series; 2. 4. 7. 11. 16. 7. 29.....

Options:

I~
-

1 %

I-2
|

o o

-2
s

3 %

-2
g

4 *

Question Number : 112 Question Id : 73681513892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
2,4, 7,11, 16, 2, 29.... SOt & 2° &1 AF 7T HAA|

Options:



;1 = 21
2 o 22
2 ® 23
4 8% 24

Question Number : 113 Question Id ;: 73681513893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A shop keeper purchased 1 dozen note books for Rs 12 each and sold at Rs 15 each. What is his profit?

Options:
1 ® Rs30

> % Rs 45
= " Rs 36
4 % Rs24

Question Number : 113 Question Id : 73681513893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T GHEER 1 gt Al IFE I T, 12 9f AT g% # T @ Tear §
AR %15 9f AlC g FY & @ 99 41 7, o 3 Fhcar amer gam?

Options:
1 % L. 30

oow L. 45
4 ® T, 24

www.canestar.com

Question Number : 114 Question Id : 73681513894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The simple interest on a certain sum at 7% p.a. for 1 year is Rs 350. Find the principal amount.

Options:
1 % Rs 4.000

»  Rs5.000
5 » Rs4.500
, # Rs5.500

Question Number : 114 Question Id : 73681513894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
v AREg Wit . 7% 9fa 99 ORoT s r 27 ¥ T I¥ & v == & Wi . 350
gl 7 Wl AT HEA

Options:



| % 4,000
. » %.5,000
. ¥.4,500
, = %5500

Question Number : 115 Question Id : 73681513895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The length of a rectangle B 1s 20 m and its breadth is 16 m. What will be the perimeter of a rectangle
which is exactly double the size of B?

Options:

1 ® 72m
> o 144 m
= % 40m
4 ® 320m

Question Number : 115 Question Id : 73681513895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TF Faa B Fr Ferg 20 Hew 3k =g 16 ey § 37 3mag F afmmw
Far grem a9 B & &% arRpEr 27

Options: WWW.CaneStaI’.COFTI

5 v 144 FeT
4 % 320 AT

Question Number : 116 Question Id : 73681513896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The average weight of 8 persons in a group is 55 kg. If two persons weighing 60 kg and 65 kg join the
group, what will be the new average?

Options:

L % 7.5 ke

Lh
.

, » 56.5kg

5 & J8kg

4 % 9kg

Question Number : 116 Question Id : 73681513896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

. % 57.5 fra=mH
. v 56.5 Trarems

- = 58 fpettamd
4 % 59 TRraEmH

Question Number : 117 Question Id ;: 73681513897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If cost price is Rs 4,800 and profit is 800, find the gain in percentage.

Options:

1 ® 16.5%
> % 16%

= % 16.33%

4« 16.67%

Question Number : 117 Question Id ;: 73681513897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TfT FT o0 T. 4,800 T 31T =mer 800 &, AT gfcrera =meT AT Fiierd|
“ WWW.canestar.com

Options:

. % 16.5%
> % 16%

2 = 16.33%
4 v 16.67%

Question Number : 118 Question Id : 73681513898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Mohan is thrice as old as Sam. Three years ago Mohan was 45 years. How old is Sam now?

Options:
1 15

2 v 16
o ® 18
4 ® 17

Question Number : 118 Question Id : 73681513898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

; = 15
> o 16
2 % 18
4 % 17

Question Number : 119 Question Id : 73681513899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You selected 13 mobile covers for Rs 2.600 and returned two defective pieces. Each replacement cover
cost Rs 50 more. How much did you pay?

Options:
. % Rs2.850

, » Rs2.750
2 « Rs2.700
4, = Rs2.800

Question Number : 119 Question Id : 73681513899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

: .canestar.com .
94 F. 2,600 H 13 Hﬁﬁﬁ%\lﬂﬁ gl‘% E?ETIEI' 94 98 HT T
qEol AT Fedd FHal H HIAG T. 50 FAET g1 39 Fhcdell ST fhar?

Options:

. % %.2,850
, % ¥ 2,750
. v ¥ 2,700
., % ¥ 2,800

Question Number : 120 Question Id : 73681513900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If ACEG = 16, Then BDFH =?

Options:
1 * 18

[ o]
]

= o

I

-2
[

3 0%
4

Question Number : 120 Question Id : 73681513900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
ofe ACEG = 16 &, @ BDFH =7

Options:

; & 18
2« 20
z % 21
g = 23

Question Number : 121 Question 1d : 73681513901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a certain language PARLIAMENT is written as PNEMAILRAT. How will GOVERNMENT
be written?

Options:

1 ®# GNEMNREOVT

5 % GNEMNRVEOT
s ® GNEMNERVOT
4 v GNEMNREVOT

Question Number : 121 Question Id : 73681513901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U Y T a1 & PARLIAWEWIGE @NESEURCOMar =mar &, 8 GOVERNMENT
Fr T forgr s

Options:

, » GNEMNREOVT
» « GNEMNRVEOT
- « GNEMNERVOT
. v GNEMNREVOT

N

Question Number : 122 Question Id : 73681513902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Pointing to a photo Ram said. "She is the daughter of my father’s sister". How is that girl related to
Ram’s father?

Options:

1 « Niece

- % Daughter
= % Aunt

4 % Sister

Question Number : 122 Question Id : 73681513902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

T TER AT AR FAN A g IH & Fgl, ‘98 A [ar $r qga H
T 21 TH F Nar & G 37 J56hr FT a4 fear £2

Options:

| #ar= (Niece)
> % o

- % =TT (Aunt)

4 % Sedd

Question Number : 123 Question Id : 73681513903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What should replace the *?" Debtor : Creditor :: Asset : ?
Options:

1 # Income

-  Liability

=z % Profit

4 % Wealth

Question Number : 123 Question Id : 73681513903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orien

tatjon : Verfj
Correct: 1 Wrong: 0.25 ?récgneStar-Com

‘2 & T U FIAT HATT?
Debtor : Creditor :: Asset: ?
Options:

1 # Income

,  Liability

z # Profit
4 ® Wealth

Question Number : 124 Question 1d : 73681513904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a coded language if ‘I like this’ is written as 431 and ‘this is good” is written as 821 and ‘she is fair’ is
written as 572. How is ‘she’ written?

Options:

1. % 5

L

2_237
3_%2

4 + Cannot be determined



Question Number : 124 Question Id : 73681513904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T FIE 9T # T 4 like this’ #T 431 or@r a@r g 3K ‘this is good’
Fr 821 for@r =r1ar g 3T ‘she is fair & 572 for@r AGr &, ar ‘she’ &
Far forgr ATTEm?

Options:

1 ) 5

= b ?

=3 b 2

. R S @ A 5 A

Question Number : 125 Question Id : 73681513905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In a coded language ‘field’ is called ‘tractor” and ‘plant’ is called “farmer” and ‘seed’” is called ‘water’.
Where will you sow the seed?

Options:

1 % Plant

> « Tractor
= % Farmer

4 % Field
www.canestar.com
Question Number : 125 Question Id : 73681513905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25
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Options:
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